3. BEL SRR

30 FldLo KA BLA

|
|
|

von A (5 #8Y)
imput = BBy n5 03 ) K

oufpat + AT,
- 077) - /%/6 f’%f{ : é/
J S Kafh 17

e (B34

s mES T bk A 4] 3
0Mf}>w’[: ﬁj_f{ﬁﬁ;

My #3 N\ RA%
g J i -~

23 6o BIH & LT $4338E
4] Z i3 j
= B3k Fitko e BETER ) |

e oy Fefrel,

>




1, i KT E A

ALEL ¥ ER
R AT

x
2 —3 x X
— x/éx
T e— x )/ x x
. : X x

47
B EL A A = NG I B3 ST 3,
=i 47 (efective ) N X33

FEe9H3 W 1o K] 35456

.7:@/5

eI W30 F b9 dTRE ¢ sHMT3
Hr3g ap RAZ5 7

VoORR e B3R < MTEH o LEBT I R
= & x BrmR e RE T3 3a

Fip oYy v iJ

Bl 77w 72

LAY LAk B
BB H I B



NG T

redd
—_— > (9
Ads _ rAn tHM 3 75,72
AN AN 770 7R

LA - fde S

(%) 77972 d- 3= (v é- vwyt)

°f + V- §-= (& fig THEA )

AP RS A SR AR



s o, T A
L2,

2 B ) _ 0
(~j§; vV + V) -F )¢

X5 #>

T
Rt

ey | (B o= BaL)
7 —; V() | €47 o7 HEn e LT
Bz ) 5
CP-F/k
V(ry=0 ¥ LF #Fa AF = $(r)= €

j; Ver)

—Bﬁ/}i —_ N e(,f;;’?/jr

l: t\'

7o A R

0\3Pf 2
Wﬁ’%%lj(mﬁ \(%l\/l‘hﬂ
X J(Ef—EJ)



=fohr oL (R=P ) Tk V(r)
= Jar e vy = V)
7-) 1% 3
; = (R-F)/k Eodpsad
47’ momenTum Transfer
—_— .9
f.)? -
Fe /:q%,k
P gk=2h&'nj§-
v 4P
Wie= T Jamipde 100 {5 8)
L BELH 30 X4 £ 18
oTr 1 ~ 5 .2
=R (e p j’m}’f AEe dsr V(T )] f(Ef~Zj

P: 2
= 4_-;?2“ jO{JZ I\/(?)J

WL )NE 75,772 0 kI J=%F TEl 3 WTEHE o4 3

\ 2,2
(T:Jgu—:fdﬂ o VD))
;V___/

aAs

—dR



- B R4 N B B

AR e por) 3 5> BEgy 3 L B3 a8EL
/‘

e
-— >

Viry- e Jar

r-¥")

(note ) KOoF V> 3’4%5{\
V'V= 41 ezf

of. WIRA ca3 B3tk a R A,

r(%?h@ Fo ~ 0,17 fm-j z I%jf‘f']'$§
: >r R~ 11 A3 fm IR

R A~ 0,53 fnm

of ser\T



(”0t€) F%/%?/ﬁ@ 1%/(4:3\

f(lr)= 2y = F(f)=2

_!2{_2‘_—:( P >
A 4E&‘1‘ngj§-
%7 4 7‘7'"7;]--[(",5]%1_,0’,
ik r — 21 |



